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Jean spent $72 on 9 shirts.  Each shirt 
cost the same amount.  How much 
did each shirt cost? 

Felix has 18 slices of pizza.  He wants to 
share them equally between himself and 
5 other friends. How many slices of pizza 
will Felix and each of his friends get? 

Lizette has 20 apples.  She wants to 
share them equally with her 2 friends.  
How much apple will each child get? 

On Friday, 500 people visited the zoo. 
Three times as many people visited on 
Saturday than on Friday. How many 
people visited the zoo on Saturday? 

Mrs. Hilt went to a concert. A total of 65,899 
people attended the concert. The next week, 
she went to a second concert, which had 119 
more people in attendance. How many 
people were at the second concert? 

Leon County High School has 1,254 students.  
Orange County High School has 267 more 
students than Leon County High School.  
Seminole County High School has 1,384 students.  
Which high school has the most students? 

The farmer wants to put a fence around his 
triangular garden.  One side of the garden is 4 feet 
long.  The second side is 3 feet long.  The last side 
is 5 feet long.  How many feet of fencing does the 
farmer need to buy to make sure his whole garden 
is fenced? 

Erica ate 455 calories for breakfast, 543 for 
lunch, and 800 for dinner.  Franklin ate 645 
calories for breakfast, 368 calories for lunch, 
and 578 for dinner.  What is the difference in 
total calories between Erica and Franklin for 
that day? 

Tyler has 32 pictures that he wants to put 
in an album. The album has 8 pages. He 
wants to put an equal number of pictures 
on each page. How many pictures should 
he put on each page?  
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